LEX 4340 Lecture 6 - Line Drivers/Receivers
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Exercise 1: The RS-232 standard specifies a maximum slew
rate of 30V/us. Assuming a voltage swing of 30 volts, what is - ]
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the maximum data rate for which two signal level transitions -7 i
occupy 10 % of the bit period? -
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Exercise 2. If the common-mode circuit is used to carry L mrat
500mA, how much current flows through each half of the : =
transformer secondary’_What is the net effect on the flux in
the transformer core? Bﬁ'\
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Exercise 3: When the input to the optocoupler is high, will 19
the output be high or low? Assume a pull-up is connected to T
G
the output. S
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